Working on Equivalent Ratios

Complete the given equivalent ratios.

m12:  =24:30

[(11115:54=5:

17122:  =33:135

(19940 :30 = :48

2127:72=3:

[416.25:5=25:

18:28=_ 7
811.2:  =30:150
1016:13=__ :52
1219:  =3:20
1448 :45=__ :75
[16142:  =63:54
e :12=15:40

20045:120=15:
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Working on Equivalent Ratios

112: 15 =24:30

B13.6: 06 =12:2

5125: 40 =5:8

713: 8 =27:72

©19:21= 3 :7

[(11115:54=5: 18

[13115:55= 3 : 11

512:5= 12 :30

712.2: 9 =33:135

19940 :30 = 64 : 48

Answers

2127:72=3: 8
(41 6.25:5=25: 20
618 :28= 2 :7

811.2: 6 =30:150

(1006 :13 = 24 :52

[1219: 60 =3:20

(14148 : 45 = 80 :75

(161 42 : 36 =63:54

(181 45 :12=15:40

(200 45:120=15: 40
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